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Day Eve Assignment-worth 10 points, due March 13
On 
[image: image2.wmf]p

 Day Eve, bring enough food or drink (appropriate for school) for 4 people.  Before 
[image: image3.wmf]p

 Day on a sheet of paper, write down why your food or drink involve 
[image: image4.wmf]p

by doing at least one calculation of your food/drink with 
[image: image5.wmf]p

 in your final answer.

The following is my example.  NO ONE can use it in their assignment!

I brought 4 cans of lemonade.  I measured one can and found its height is about 12.4 cm and its diameter is 6.6 cm.  The surface area of a can is approximately the same as the surface area of a cylinder, which is 
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 where r=radius and H=height.
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So the total surface area of all 4 cans of lemonade I brought is about 
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With 2 significant figures, 4 cans have surface area of approximately
[image: image9.wmf]
Make sure you leave your final answer in terms of 
[image: image10.wmf]p

.  Write your name, period, and column number on your paper to turn in at the beginning of the period on 
[image: image11.wmf]p

 Day Eve (March 13).

If you cannot afford to bring food or beverage or 4 people, then see me today or tomorrow before/after school.  I will provide the food/drink, and you will do the measurements and calculations.

You can bring your food/drink to class on 
[image: image12.wmf]p

 Day Eve.  If it’s too heavy to carry around, then you can write your name and period on it and drop it off in my classroom before school. 

3.1 Basic Graphs:  

3.1 day 1 (on graph paper). Page 137#1-27 odds.
3.1 day 2 (on graph paper). Page 137#2-28 evens.
[image: image13.png]The Unit Circle
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	As x increases
	y=Sin(x)=b
	y=Cos(x)=a

	0(,π/-2.π/2
	
	

	,π-/2.π/2(π
	
	

	π(, 3π/2
	
	

	,3-23π/2(π)2π
	
	


one period of y=Sin(x),   repeat to the left and right.
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one period of y=Cos(x), repeat to the left and right.
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	Function
	Domain
	Range
	Period

	y=Sin(x)
	
	
	2π

	y=Cos(x)
	
	
	2π

	y=Tan(x)
	
	ℝ
	π

	y=Cot(x)
	
	ℝ
	π

	y=Csc(x)
	
	
	2π

	y=Sec(x)
	
	
	2π


y=tan(x)=,b/-a.
Step 1: P(a,b) on the horizontal axis = (±1,0),

so y=tax(x)=,b/-a.=,0/-±1.=0.
so the x-ints of tan(x) are at x= kπ, 
[image: image16.wmf]
Step 2: P(a,b) on the vertical axis = (0, ±1),

so y=Tan(x)=,b/-a.=,±1-/0.=Ø

so the asymptotes of Tan(x) are at 
[image: image17.wmf]
Step 3: What happens to y=Tan(x) as x(,
[image: image18.wmf]. from the left side? ,
[image: image19.wmf].≈1.5707963
	x
	0
	0.5
	,
[image: image20.wmf].≈0.7859
	1
	1.5
	1.57
	1.8707
	1.5707963

	Tan(x)
	
	
	
	
	
	
	
	


As x(,
[image: image21.wmf]. from the left, y=Tan(x) increases without bound.
Step 4: What happens to y=Tan(x) as 
x(
[image: image22.wmf].≈-1.5707963 from the right side?
	x
	0
	
[image: image23.wmf].
	-1.5
	-1.57
	1.5707963

	Tan(x)
	
	
	
	
	


As x(
[image: image24.wmf]. from the right, y=Tan(x) decreases without bound.
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y=tan(x), the purple section is one period, repeat to the left and right


[image: image26.wmf].
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so tangent has a period of π, or every π, tangent repeats.
tan(x+ kπ)=tan(x), kπ, 
[image: image29.wmf]
Recall that sin and cos both have a period of 2π:
Sin(x+2 kπ)=sin(x), 
[image: image30.wmf]
Cos(x+2 kπ)=cos(x), 
[image: image31.wmf]

[image: image32.wmf] so x-ints of tan(x) become asymptotes of cot(x): x= kπ, 
[image: image33.wmf]and asymptotes of tan(x) become x-ints of cot(x): 
[image: image34.wmf].
y=cot(x), the purple section is one period, repeats to the left and right

Csc(x)=,1/-sin⁡(x).=) so x-ints of sin(x) become asymptotes of csc(x): x= kπ, 
[image: image35.wmf]
y=csc(x)
max=(-,π/-2.,-1), (,3π/-2.,1), (,7π/-2.,-1)
min=(,−3π-/2.,1), (,π-/2.,1), (,5π-/2.,1)
Choose x-coordinate of max or min of sin(x): 
[image: image36.wmf] 

so all min of csc=(└┘,1) and all max of csc=(└┘, -1)
[image: image37.png]LR
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y=csc(x), the red parts is one period, repeats to the left and right

Sec(x)=,1/-cos⁡(x).=) so x-ints of cos(x) become asymptotes of sec(x): x=,π-/2.+ kπ, 
[image: image38.wmf]
Choose x-coordinate of max or min of cos(x): x=π, sec(π)= ,1-/cos⁡(x).=,1/-−1.=-1, so all min of sec=[└┘, 1] and all max of sec=[└┘, -1]
[image: image39.png]www.analyzemath.com




y=sec(x), the red parts is one period, repeats to the left and right

3.2 Graphing y= k + Asin BX and y= k + Acos BX
Day 1 (on graph paper). Page 149#1-15 odds,23-33 odds.
Day 2 (on graph paper). Page 151#47,55,12-16 evens, 24-34 evens.
For y= k + Asin Bx or y= k + Acos Bx, B>0:


Amplitude = |A|
Period = 
[image: image40.wmf]B
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If B>1, the basic sine or cosine curve is horizontally compressed.

If 0<B<1, the basic sine or cosine curve is horizontally stretched.

If |A|>1, taller.

If 0<|A|<1, shorter.

If A>0, same.

If A<0, reflected across x-axis.

If k>0, shifted up.

If k<0, shifted down. 
Ex.1 Compare amplitude, period, and graph of y= 
[image: image41.wmf]2

1

cos X and y= -2cos X

[image: image136.wmf]
With y= cosX over 0 ≤ x ≤
	
	Amplitude
	Period

	y= cosX
	
	

	y= 
[image: image42.wmf]2

1

cosX
	
	

	y= -2cosX
	
	


x.2 Compare amplitude, period, and graph of y= sin2x and y= sin
[image: image43.wmf]2

x

with y=sinX for one period starting at the origin.

	
	Amplitude
	Period

	y= sinX
	
	

	y= sin2X
	
	

	y= sin(
[image: image44.wmf]2

x

)
	
	


Ex.3 Find the amplitude, period, and graph of y= 3cos2x over -≤ x ≤ 2

amp = 

period = 

Ex.4 Find the amplitude, period, and graph y= 
[image: image45.wmf]2

1

-

sin(
[image: image46.wmf]2

x

p

) over -5 ≤ x ≤ 5.

amp = 

period = 

Ex.5 Find the amplitude, period, and graph y= 3−2cos2x over≤ x ≤ 2.


amp = 








period=

(If time):

Period = 
[image: image47.wmf]frequency

1

; period = time for one complete cycle





Freq. = # of cycles per unit of time

Mass of floating object can be calculated by making it bob up and down and timing its period of oscillation:

	y= meters
	g= 9.75 m/sec2

	D= meters
	A= horizontal cross sectional area in m2

	t= time in sec
	M= mass in kg


y= Dsin
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amp = |D|

period = 
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gA

1000

2

p


Ex.6 A tuning fork has a freq of 262 Hz and amp of .065cm to the left, find A and B so 

y= AcosBt is a model.

Period = 
[image: image50.wmf]frequency

1

 = 
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1

= 
[image: image52.wmf]B
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=> B= 524=> y= -0.065cos524t

Ex.7 A cylindrical buoy with cross sectional area 1.25m2 is observed to bob up and down with a period of 0.50sec.  What is its mass?

Period = 
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 => 0.50 => 
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= 4=> 
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=> M = 
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 ≈ 77kg

3.3 Graphing Y= k + A sin(Bx +C) and Y= k + Acos(Bx +C)  
when B>0, amp= |A|, period ,2π-B., phase shift ,−C-B.
Page 163#12-20, 24, 33, 35 (on graph paper).
Ch 3 quiz review (on graph paper): page 206#1-9,11,12,14,15,20-22,29,42.
Ex.1 Find amp, per, phase shift and graph 
[image: image58.wmf] over -3π ≤ x ≤5π
Amp = 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


Per=
Phase shift= 
Ex.2 Find Ex. Find amp, per, phase shift and graph y= 10+ 20cos (πx- ,π-/2.) over -1 ≤ x ≤ 3
Amp= 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


Per =
Phase Shift= 
Ex.3 Graph Y1 -= 3sin x + 4cos x on TI and find Y2 = A sin (Bx +C) accurate to 3 decimal places that has the same graph
Amp= 


	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


Per =
Phase shift= 
Do #24.

y=  A cos(Bx +C), 0 < ,−C/-B. < 2π, 

[image: image59.wmf]
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A=2
3.5 Graphing Combined Forms

3.5 (on graph paper). Page 188#1-15odds.
Ex.1 Graph y=,x/-2.+,cos-x. over 0≤x≤2π
amp=          
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


 per=   
 phase shift=    
Ex.2 Graph y=x−sinπx over−2≤x≤2
amp=          
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


 per=   
 phase shift=  
Ex.3 Graph y=,cos-x.+3,sin-2x. over 0≤x≤3π
amp=          
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


 per=   
 phase shift=  
amp=          
 per=   
 phase shift=  
3.6 Notes:  
3.6 day 1 (on graph paper). Page 200#1-10.
3.6 day 2 (on graph paper). Page 200#11-15all,19-23all.
[image: image61.png]y = Atan(Bx + C)





y=tanx:  one cycle from −,π/-2. to ,π/-2.
[image: image62.png]y = Acot(Bx + C)





y=cotx:  one cycle from 0 to π
[image: image63.png]y = Asec(Bx + C)





y=secx:  one cycle from 0 to 2π
[image: image64.png]y = Acsc(Bx +C)





y=cscx:  one cycle from 0 to 2π
[image: image65.png]



y=tan(x), the purple section is one period, repeat to the left and right
[image: image66.png]



y=cot(x), the purple section is one period, repeats to the left and right

[image: image67.png]www.analyzemath.com




y=sec(x), the red parts is one period, repeats to the left and right

[image: image68.png]LR
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y=csc(x), the red parts is one period, repeats to the left and right
	
	Domain
	Range
	Period

	Y=sinx
	[image: image69.png]



	-1[image: image71.png]


y[image: image73.png]


1
	2π

	Y=cscx
	[image: image75.png]


 except x=kπ, k is

an integer
	y[image: image77.png]


-1 or y[image: image79.png]


1
	2π

	Y=cosx
	[image: image80.png]



	-1[image: image82.png]


y[image: image84.png]


1
	2π

	Y=secx
	[image: image86.png]


 except x =[image: image88.png]


k,
k is an integer
	y[image: image90.png]


-1 or y[image: image92.png]


1
	2π

	Y=tanx
	[image: image94.png]


 except x =[image: image96.png]


k,

	[image: image97.png]




	π

	Y=cotx
	[image: image99.png]


 except x = kπ
k is an integer
	[image: image100.png]



	π


Amp is not defined for tan, cot, sec, csc because these functions have infinite height.

Period for tan and cot = [image: image102.png]







Period for sec and csc = [image: image104.png]w |y




Phase shift = [image: image106.png]


 for all trig functions

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


Ex. 1 Find the amp, per, phase shift, and graph for y=2cot,(x/2)
. over -2π<x<2π.
Amp = 

Per = 

Phase shift = 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 


Ex. 2 Find the amp, per, phase shift, and graph for y= tan([image: image108.png]


x + [image: image110.png]


 ) over =1.5<x<2.5.
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Ex. 3 Find amp, per, phase shift, and graph for 
[image: image111.wmf]over 
[image: image112.wmf] Label any maximum or minimum points. 

Amp = 

Per = 

Phase shift = 


[image: image113.wmf]
Min = ([image: image115.png]Bl



), ([image: image117.png]


)

Max = (0, [image: image119.png]


)
x= [image: image121.png]


, 

[image: image122.wmf]
([image: image124.png]


) = min of sec graph
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 


Ex. 4 Find amp, per, phase shift, and graph for y= 2csc([image: image126.png]


x-π) over -2<x<10. Label any maximum or minimum points.

Amp = 

Per = 

Phase shift = 

[image: image127.wmf]
Min = (-1,2), (3,2), (7, 2)

Max = (1,-2), (3,2), (9,-2)

X= 1, y= 2 csc ([image: image129.png]


(1)-π) = 2 csc ([image: image131.png]


) = [image: image133.png]Rl b




 [image: image135.png]


 = -2 

(1,-2) = max of csc graph
_________  Review (on graph paper). Page 206#20-29,37-39,41.  Print out Chapter 4 notes.
_________  Chapter 3 group test.
_________  Correct chapter group test.
_________  Chapter 3 test.
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